A -val, -vel végzédés / The ending -val, -vel (with)

autoval biciklivel
Katival Petivel
Lindaval Emesével

- Xal - Xel
orvos + val = orvossal tej + vel = tejjel
Katalin + val = Katalinnal Péter + vel = Péterrel
busz + val = busszal pincér + vel = pincérrel

Ha a sz6 massalhangzora végzédik, akkor a -val, -vel ‘v’ betiije megvaltozik az adott
massalhangzora. Ha példaul a szo6 utolsé betiije ‘s’, akkor a végddés -sal vagy -sel lesz (orvos >
orvossal).

If a word ends in a consonant, the ‘v’ of -val, -vel changes to the certain consonant. E.g. if the last
letter of the word is ‘s’, the ending is -sal or -sel (orvos > orvossal).

1.) Mésodik oszlop: Ha egy szdban szerepel a, d, o, 0, u, u, akkor a masodik oszlopban l4thato toldalékot
kapja (ez a maganhangz6-harmonia).

Second column: If a word contains a, a, o, 0, u, u, than it will get the suffix in the second column (this is
called vowel harmony).

2.) Harmadik oszlop: Ha egy szoban NINCS a, &, o, 6, u, 1, akkor a harmadik oszlopban lathaté toldalékot
kapja.

Third column: If a word does NOT contain a, d, o, 0, u, u, than it will get the suffix in the third column.



